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Optimized data storage algorithm of IoT based on cloud computing in 

distributed system 
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 (Wang and Zhang, 2020) – Computer Communications 
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��� $����2 ��
� !�)
+L� 9� /0�C� �
� � � /
)�� $�X��� E
K�� �
�. 1,0�
��)� ��*3L� 

��
��� �� $����2 #0�� $

�P 1#��� � ��<
� $

�P�9�� ��
��� �� $�����2 IoT ��_0���2 
09 �� 

����:  

)1( ��
�� �K+* )Practical performance( :�� ���� �� ��*3L� ;K�S� $���1�2 $���� $����2 #0�� �2�
- 

1��� � ��<
� ���e� E��� ��
� ���e� �4G�� !��9 $��Q��� ��1��� �� n����� 80�:� �� ��
�� c��� �� 

vQ@ ��#)� � ��
�� ^�� $��Q��� 9� !�
���� �� ,
+h� ��#)�.  

)2( �)0:2 ,
0�> )Low cost( :��:
T�� �4��� ��<
� $

�P�9�� ��
��� �� $�����2 IoT $��� 1/�� 

� �)0:2��2 ���#TX� � ���R�G� �� �4��� V��#� ,-���. �� ?�@ \2�� � \2�� /��.  

)3( A�
	� �
0�> )Scalability( :��#4� �2��
� ��
� ��<
���2 $

�P�9�� ��
��� �� $�����2 IoT 

��#���� �� �2#F ���� 1#�
� � 
2 �` ��#4� 
� 
� 1#��� ��<
� $

�P�9�� A�
	�
�
0�> #2��� ���.  

�+2 ����� 
�P $#� �� M�� ����:(� �
�M�� �� 
� ��� ��0��X(� $

�P�9�� ��
��� �� $�����2 IoT ��
G 

$���#�� .�� ,0� 1?�@ ��0��X(� ��2 $

�P ��
��� $�����2 ����� �+�#)���� ,0� ����:(� �� $���.
� 1#))� 

,0�
��)� !.�2 #0�� 
� ,0� A��� �)
T��9�� #���. �� !. x�� #)0.
- �F3�:/�� 
09 ]
�  

2-1- �)
T��9�� ���+4� $

�P�9�� ��
��� �� $���  

�� ��e)� ���T� �0���� D9��
> $��� ��0��X(� $

�P1�9�� HDFS �#��� �� ���� �� ��_0���2 ��*3L� 

��
��� �� $��� IoT1 ��0�:� \��0�� �
�� � ����:(� $

�P�9�� ��
��� �� 1$��� ��
� �)
T��9�� ���+4� 

$

�P�9�� ��
��� �� $��� �-
4� �����. ���+4� $

�P�9�� ��
��� $����2 ��O��+2 �� �� E7� 2 

!� �$��� 1$#� �)
T��9�� $#�/��.  E7� �� �k��)k+22  $#� $��� !� �[> 9� �)
T��9�� ���+4� 

$

�P�9�� ��
��� �� $���1�2 ,0� ���+4� �� �� \S� �KF� �
<	� ����� �� #)����* 9� :��
��� �� 

1��*3L� ������ � $

�P�9�� $����2.  

 V
���:-� �
� � ��
� ��
��� �� ��*3L� ��
��� �� $����2 ��#����  ��*3L���
��� �� ���0� #)� � 

$9�@��2 ��
7K+* �� �����. /��. $�3* 
� 1,0� ��<2 ��������1 80 ��<
� $

�P�9�� H09��$#� �� 

��<
�E��* [��)
( 1/�� �� ,
��� �9��� Xen �� \S� �#
K� !. \S� $

�P�9�� /��. ���� 

HDFS �� =��� NameNode /0
0#� ��1��� ��G�4�� ��*3L� ��
��� �� $����2 �� $

�P ��#)� � 

��#���� ��*3L� ��
��� �� $�����2 �
e* �� $

�P � /0
0#� #)�.   
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��*3L� ��
��� �� $�����2 IoT �� ��!��� �� E0�- HDFS ?�	��� ��� �0 =��� ��
��� �� ��*3L� 

��
��� �� $�����2 IoT � \S� ������ �� ���� �� ����:(� ;K�S� �� $�X0�> $��� $

�P 1�
� �� 
2 ��� 

!.�2 ��#)���� $

�P�9�� V��#� ��*3L� ��
��� �� $����2 �� N	�� #) S�. �� ,
+2 1?�@ HDFS �� 

!��:+2 �� !. $���� #� ��#���� �� #@ ���09 

��� ��
��� �� $����2 �� \2�� $��� � ��
�� 
���� �� 

\0�:-� #2�.  

  

 E7�2- �)
T� ����+�$

�P ���+4� �9��$��� �� ��
��� �9�� 

  

2-2- �)
T��9�� �_��
��� �� H09�� $

�P�9�� ��
��� �� $����2  

A���
� ���+4� $

�P�9�� ��
��� �� $��� �)
T� 1M�� ��0��X(� hash ��
� �)
T��9�� �#�� �_��
��� 

H09�� ��
��� �� $��� N
�O� $��� �����. �� #)0.
- $

�P�9�� ��*3L� ��
��� �� $���1�2 HDFS 

��
� V���� $

�P�9�� �409�� ��
� ��*3L� ��
��� �� $����2 �-
4� �����. �� ,0� 1?�@ 80 �(�<� 

�#
K� ,0� /�� �� ���X` ��*3L� ��
��� �� $����2 �� 
� ��� $
���2 IoT H09�� 1�
)� �)40 �_��
��� 

H09�� $

�P�9�� ��
��� �� $����2 �� 

m�� �
	�<� � ���:� 
� ��� �0���� D9��
> $����2 ����.  
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�� ��e)� ���T� �0���� D9��
> 1$��� ��0��X(� hash �� �
7K+* M�� � �)0:2 ���#TX� ,
0�> 
� ��� ������ 

$��� ��
� �)
T��9�� �_��
��� H09�� ��
��� �� $��� $��Q��� ��1��� �� ��#���� �� #@ ���09 /<7� 

$
���2 IoT � ?�	��� ��*3L� ��
��� �� $��� ���� 9� \0�:-� $
��2 �� \2�� #2�.  

2-2-1- E���* 
m�� 
� H09�� $

�P�9�� ��
��� �� $����2  

[> 9� ��
��� �� ��*3L� ��
��� 1$��� �� !��� !. �� �� ,0#)` W�K� $��� �
<	� �
� � A���
� ,
���G 

x�� 
� ��� $
���2 IoT H09�� �
�. 9� N0
L N
	�� oS � #� �� E���* �KF� 
m�� 
� H09�� 

$

�P�9�� ��
��� $����2 �� ��L $#+* �� �� ���� �
<	� ��#���:  

)1( ?��4� ��� )Load balancing :(�� #)0.
- H09�� $

�P1�9�� ��*3L� ��
��� �� $����2 #0�� �� ��L 

���<� 
� ��� $
��2 H09�� #��� �� ?��4� ��� $
��2 vQ@ 1��� �� ���L �� ��*3L� ��
��� �� $����2 

#)����� �� ���F �9��� D9��
> #��� �� �0���� D9��
> $����2 ���T� #��0. 
�� H09�� $

�P�9�� ?��4�� 

1#���� "U�
��� $����2" �� ��*3L� ��
��� �� $����2 ���� #2��� /���. 
�#� 1�7)0� V���� D9��
> �9��� 

��
� $
��2 ,7+�

" #2��� 1��� �� 

m�� �
� 
� 
� $

�P ��*3L� ��
��� �� $����2 #2��� /���.  

)2( ��O� $
� )Node failure :(��
� ������2 HDFS1 ,0� 80  E7 ��
7� /�� �� $
���2 !. 

c��� 9� �e� #)�<2. 1,0�
��)� ��0��X(� �)
T��9�� �� $

�P�9�� ��
��� �� $����2 #0�� E+�� ��O� 

��
<� �
� 
� ����� 1#��� �� ���L �� ��*3L� ��
��� �� $����2 �� !���� �� $�
��� ?��4�� $

�P �
�.  

)3( ��
�� ��
K+* $

�P�9�� )Storage operation performance :(

m�� $

�P�9�� ��
��� 

$����2 �� ��L �
	�<� /��

m��  � �
���
7K+* ��
K+* /��. �� ��L 1�K� �T)� ��
K+* ?�	��� �7�� �� 
e� 

��-
� �����. 
�� ��
K+* �� ?�	��� �7�� $��� 1#��� ��L����� !�
� $
��2 �� #)0.
- �0�
�� ��0��X(� 

$

�P�9�� ��
��� $��� ��#���� �� #@ ���09 \2�� #��0 � �0���� $�
 -�9�� ��*3L� ��
��� $��� 

��#���� �� ��L 
m�� ���T� #��0.  

�� ���� �� �0:�� � E
K�� M�� � �X�<�+2 ,
� ��*3L� ��
��� �� $���1�2 ��0��X(� \2 ��
� /��X� � 

$

�P $�����2 =��
� �� !�+2 $
� ?�+*� ����� � ��*3L� ��
��� �� $�����2 =��
� H+����. 

��1��� �� ���L �� A
> � �� � �0:�� � E
K�� 
� ��� ��*3L� ��
��� �� $�����2 �#4� E
T<� 

�����.  

2-2-2- �#)�
7
> ��#	� Hash ��
� ��
��� $����2 ��  /
4G��$

�P ��*3L�  

����+� 8
��+� ��0��X(� Hash �� E7� 3 !� �$��� $#�/��.  E7� �� �7��)k+23 �� �e@3���� 

��0��X(� \2 �� ��T` $9�@ �
<	� ����� :?�#� A1 ?�#� B1 ?�#� C � ?�#� D �� 
a�)�� �� 
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DataNode11 DataNode31 DataNode5 � DataNode7 /��. �	K@ ��0��X(� Hash �� ������ 

��#	� Hash E
+7� ����� .  

9� �0���.�� �	K@ ��0��X(� Hash 1 �_��
��� H09�� �� $

�P�9�� ��
��� $��� �)
T��9�� $#�/��. 

E@�
� x�� �� ]
� 
09 #)�<2:  

1?�� n����� ��*3L� ��
��� �� $��� � ��#4� �S<���2 �-�C� #0�� �
e)� #��� � ?��
- ������ ���� 

�X�<�+2 
� ��� ��*3L� ��
��� �� $��� ����* /�� 9�:  

  

�� δ !� �$#)2� ���� �X�<�+2 ,
� ��*3L� ��
��� �� $����2 1/�� α ��#4� �S<���2 �-�C� �� !� � 

��#2� �� �� ���� �� ��
���  ����� ��	
	�� � y�C�� �)-
� ��� 3 �
e)� $#� /�� � n ��#4� E� 

��*3L� ��
��� �� $����2 ��#���.  

1V�� ��#	� $
� Hash �� ���� HDFS 
� ,0� A��� ������ �  ���	K@ Hash �#)�
7
> �����. ?��
- 

������ ��� ��#	� Hash $
��2 �� ���F 
09 !�
� �����:  

  

�� �� !. ω ��#	� Hash $
�1�2 p 1$
� m ��#4� E� $
��2 �� !� � ��#2� � β 
�����> ������ ��#	� 

Hash $
��2 �� !� � ��#2�.  

[r� �� ���� �� �X�<�+2 ��*3L� ��
��� �� $���1�2 ��#	� Hash $����2 �� ��L 
a�)�� ������ ����� 

� ?��
- ������ �� ���F 
09 !�
� �����.  

  

�� �� !. µ !� �$#)2� ��#	� Hash ��
��� �� $����2 /��.  

�� 1/0�T� !�7� $

�P ��*3L� ��
��� �� $����2 �� ���� �� ��#	� Hash ��/��$#�. 9� $
��2 � $����2 

�#)�
7
> ����� � ��
�� �#)�
7
> �� ���F 
09 /�#� ��#0.:  
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 1!. �� ��χ 
�����> �#)�
7
> �� !� � ��#2�.  

  

 E7�3-  ��0��X(� 8
��+� ����+�Hash  

  

2-3- �)
T��9�� �d�(�>�� �7�� IoT  

9� �0���. �� ,0� �7�� =��� ������� �
�� �� #)0.
- $

�P�9�� ��
��� �� $����2 $

�P ��1��� 

�d�(�>�� �7�� 

m�� ���09 
� ��� 
m� $

�P�9�� #2��� /���. 80 �d�(�>�� �7�� ^�� ��#���� �� #@ 

���09 �0���� $

�P ��
��� $��� �� ���T� # S� � $

�P ��
��� $��� �� /*
� # S�. �d�(�>����2 

�7�� ��0��X(� $

�P�9�� ��
��� �� $�����2 IoT ����� �37 � $#+*�� #����. 1,0�
��)� �d�(�>�� 

�7�� ����
�:0� ��
� �)
T��9�� $��Q��� �����. #)0.
- x�� �)
T��9�� �� ]
� 
09 /��:  

$
��2 �� �d�(�>�� �7�� ��#+* �� 80 /��� i�
� $#�#�� � 
2 $
� )#)��� d11 d21 …( �� $
� z)
k
5�� 

)#)��� E01 E11 E21 …(
��
r��� ER�� $#� /��.  ,0�����+� �)
T��9�� �d�(�>�� �7�� �� E7� 4 !� � 
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$��� $#� /��.  E7� �� �70��O��+24 �� $#2� ����1 �KF�- ,
� 
2 $
� � 1{
5�� $����,0
� �KF�- [> 

9� �)
T��9�� �d�(�>�� �7�� IoT 1/�� �� ��#���� �� #@ ���09 /*
� ��
��� �� ��*3L� � $

�P�9�� 

$����2 �� ���T� 1# S� � �
7K+* $

�P�9�� ��*3L� ��
��� �� $����2 �� ���T� # S�. $�3* 
� 1,0� 

�)
T��9�� �� �d�(�>�� �7�� �� ��!��� �
�T� /0:� �� /�#� ���..  

  

 E7�4- �)
T� ����+� �7�� �d�(�>�� �9��IoT   

  

2-4- �)
T��9�� $9�#�� W�K� $���  

$

�P ��
��� $����2 �� $��Q��� 9� HDFS1 �� 1HG�� $�����2 ��
��� �� �� W�K���2 $��� ��
� 

$

�P�9�� H09��$#� �
<	� ��#)�. 1,0�
��)� $#2� � ����� �� $9�#�� W�K� $����2 :
� �� ��L �
	�<� 


� $

�P�9�� ��
��� �� $����2 

m�� �������. �� ��e)� J�:�
� � H0
�
� !�
� $

�P�9�� ��
��� 

$���1�2 ��0��X(� 
m� ��
� �)
T��9�� $9�#�� W�K� $��� $��Q��� �����. ?��
- �)
T��9�� ��
� $9�#�� W�K� 

$��� ����* /�� 9�:   
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�� �� !. transe_time ��
��� �� ��*3L� ��
��� �� $����2 �seek_time  !��9 �#)�
7
> E�� 

$

�P ��*3L� ��
��� �� $����2 /��. 

�� ���� �� ?��
- 1M�� $9�#�� �)
T� W�K� $��� �� /�� ��#0. � ��*3L� ��
��� $��� �� ��L 
a�)�� A���
� 

!. $

�P ��#���. 

9� N0
L #)0.
- 1M�� �)
T��9�� $

�P�9�� ��
��� $����2 �� \��0�� �
�� N	�� ����� �� ��#���� �� 

#@ ���09 �0���� D9��
> $����2 � E+�� �O� �� $

�P�9�� ��
��� $����2 �� ���T� # S� � ����
� > 

�)- ��-
 
>�
� �� ��
� $

�P�9�� � /0
0#� ��
��� $����2 �2�
- #)�.  

  

3- D����2 �)
T��9�� $

�P�9�� E0�-  

3-1- ]
L �)
T��9�� $

�P�9�� E0�- 

���+4� �KF� HDFS � /(�@ /0
0#� W�K� ��
�  ��� �-
4���
� ��*3L� File-Block-Mapping 

(FBM) ��
� $

�P�9�� ��h- 
���� IoT ���#TX� ��#���. $�3* 
� 1,0� FBM $9�#�� E0�- � ��#	� 

offset E0�- 
���� $

�P$#� �� HDFS �� /�m ��1#)� � 
2 
���� ��� HDFS E0�- 
����� ��� �� ���� 

� V�+� E0�-��2 ��� �� $

�P ��#)�. $�3* 
� 1!. 
2 V�� E0�- n��
� �� ID 
���� 1/�� �� �O��� /��X� 

!. �� E7� 5 � �)
T��9�� E0�- �� E7� 6 !� �$��� $#�/��.  � !�0
� � �� ��#+* �)
T� E0�- ]
L

$
��� $��� ��2 N0
L 9� i
�
�FBM  .���� ��
��� �KF� $
� �

m�� ���T� ��-�0 A���
� ]
L /0
0#� 

�9��� ��#���� !��9 t��> ��<
� �� $���� #)�. � ��*3L� E0�- $��� ��� 80 ��<
� 1$

�P 
� 
� ��*3L� 

��� E0�- ��<
� �� ?�b�� ��1#)� ���  ��*3L� !.��#	� �+� 9� �e-�@ $

�P �� ?�b�� ��#)�. 1,0�
��)� ,0� 

y�� ��<
� $

�P�9�� E0�- �� !��)* U#2 �)
T��9�� $��Q��� �����.  
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 E7�5- ) /��X� n�����MappingE0�- ,
� ( ��2FBM E0�- � 
���� ��2  

  

  

  

 E7�6- ) /��X� n�����MappingE0�- ,
� ( ��2FBM E0�- � 
���� ��2  

  

  



15 

 

3-2- -#)0.
 !#���� � ,���� ����
� �)
T��9�� E0�-  

)1( #)0.
- ,���� E0�- �� E7� 7 !� �$��� $#� /��.   

�
� � 80 /������ ?���� ��1#)�  ��)1 E0�- (/������ j ����� ��1��� �� �� NameNode E��4� 

1���#� ���  ��)2 (�� FBM E��4� ����. �� [r� )3 (��#	� /<-� )1( /�m ����� � ) ��4( FBM �� !��)* 

����� /
	-�� m oS � �����. �� ,
+2 1?�@ ) ��5 (�
� � !�0
� ,���� E0�-��2 
���� �� �� 

NameNode ?���� ��1#)� �� ) ��6( ,0� !�0
� �� �� �
� � 9�� ��#���
�. �� ,0� 1!��9 ) ��7 (�
� � 

�� NameNode E��4� ��#)� �� ��
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